



ON THE CUBIC EQUATION WITH EIGHT UNKNOWNNS

$$x^3 + y^3 + z^3 + w^3 = U^3 + V^3 + P^3 + Q^3$$

M.A.GOPALAN, G.SUMATHI, S.VIDHYALAKSHMI

Department of Mathematics, SIGC, Trichy,
mayilgopalan@gmail.com



*** G.SUMATHI**

Author for Correspondence

Article Info:

Article received :13/08/2013

Revised on:29/08/2013

Accepted on:31/08/2013

ABSTRACT

We obtain infinitely many non-zero octuple (x, y, z, w, U, V, P, Q) satisfying the cubic equation with eight unknown's $x^3 + y^3 + z^3 + w^3 = U^3 + V^3 + P^3 + Q^3$. Various interesting relations between the solutions, Polygonal numbers, Pyramidal numbers, and Centered Pyramidal numbers are obtained.

KEYWORDS

Cubic equations with eight unknowns, integral solutions, special numbers, figurative numbers, centered pyramidal numbers

M.Sc 2000 mathematics subject classification: 11D41

NOTATIONS

$t_{m,n}$: Polygonal number of rank n with size m

P_n^m : Pyramidal number of rank n with size m

Pr_n : Pronic number of rank n

$Ct_{m,n}$: centered Polygonal number of rank n with size m

$Cf_{3,n,3}$: Centered Triangular Pyramidal number of rank n

$Cf_{3,n,6}$: Centered Hexagonal Pyramidal number of rank n

$F_{4,n,3}$: Fourth Dimensional Figurate Triangular number of rank n

$F_{4,n,4}$: Fourth Dimensional Figurate Square number of rank n

$F_{4,n,6}$: Fourth Dimensional Figurate Hexagonal number of rank n

INTRODUCTION

The cubic diophantine equations offer an unlimited field of research by reason of their variety[1,2,3]. In particular,one may refer [4-9] for cubic equations with five unknowns.

It seems that much work has not been done in finding integral solutions of cubic equations with multivariables.This has motivated as to search for cubic equations.This communication concerns with the problem of finding integer solution to the cubic equation with eight variables given by $x^3 + y^3 + z^3 + w^3 = U^3 + V^3 + P^3 + Q^3$.A few interesting relations between the solutions, special numbers, figurative numbers and centered pyramidal numbers are obtained.

METHOD OF ANALYSIS

The diophantine equation representing a cubic equation with eight unknowns is

$$x^3 + y^3 + z^3 + w^3 = U^3 + V^3 + P^3 + Q^3 \tag{1}$$

It is well-known that (1) is satisfied by octuple (2,3,10,11,1,5,8,12).In what follows the process of obtaining other choices of non-zero distinct integral solutions to (1) are illustrated.

PATTERN

Introducing the linear transformations

$$\left. \begin{aligned} x &= a + b + c \\ y &= a - b - c \\ z &= -a - b + c \\ w &= -a + b - c \\ U &= a + e + f \\ V &= a - e - f \\ P &= -a - e + f \\ Q &= -a + e - f \end{aligned} \right\} \tag{2}$$

in (1),it simplifies to

$$bc = ef \tag{3}$$

Again,the substitution of the linear transformations

$$b = u + v, c = u - v, e = p + q, f = p - q \tag{4}$$

in (3) gives $u^2 + q^2 = p^2 + v^2 \tag{5}$

The choice of $v = kq, \quad k > 1 \tag{6}$

in (5) leads to $u^2 = (k^2 - 1)q^2 + p^2, \quad k > 1 \tag{7}$

which is satisfied by

$$\left. \begin{aligned} q &= 2rs \\ p &= (k^2 - 1)r^2 - s^2 \\ u &= (k^2 - 1)r^2 + s^2 \end{aligned} \right\} \tag{8}$$

Using (8),(6) and (4) in (2),the corresponding non-zero integral solutions of (1) are represented by

$$\begin{aligned}
 x(k, r, s) &= a + 2(k^2 - 1)r^2 + 2s^2 \\
 y(k, r, s) &= a - 2(k^2 - 1)r^2 - 2s^2 \\
 z(k, r, s) &= -a - 4krs \\
 w(k, r, s) &= -a + 4krs \\
 U(k, r, s) &= a + 2(k^2 - 1)r^2 - 2s^2 \\
 V(k, r, s) &= a - 2(k^2 - 1)r^2 + 2s^2 \\
 P(r, s) &= -a - 4rs \\
 Q(r, s) &= -a + 4rs
 \end{aligned}$$

Properties

1. $x(k, r, s) - y(k, r, s) - U(k, r, s) + V(k, r, s) \equiv 0 \pmod{8}$
2. $[Q(r, r) + a](P(r + 1, 1) + a) = -8P_r^5$
3. $[Q(r, r) - P(r, r)][w(k, r + 1, 1) - z(k, r + 1, 1)] = 128kP_r^5$
4. $z(k, r, s) + w(k, r, s) + P(r, s) + Q(r, s) \equiv 0 \pmod{4}$
5. $U(2s, s, s) - V(2s, s, s) - 96F_{4,s,6} + 48Cf_{3,s,6} + 80t_{3,s} \equiv 0 \pmod{40}$
6. Each of the following is a nasty number [3]
 - (a) $30[y(r, r, r) - x(r, r, r) - 6Pr_a - 6Cf_{3,r,6} + F_{4,r,3}]$
 - (b) $Q(r, 3r) - P(r, 3r)$
 - (c) $6 \left[\frac{w(\alpha^2, r, s) - z(\alpha^2, r, s)}{Q(r, s) - P(r, s)} \right]$
 - (d) $6[x(3r, r, r) - y(3r, r, r) + z(3r, r, r) - w(3r, r, r) + P(r, r) + Q(r, r)]$
7. $w(r, 2r, 4r) - z(r, 2r, 4r)$ is a cubic integer

PATTERN

Rewrite (7) as $(k^2 - 1)q^2 + p^2 = u^2 * 1$ (9)

Assume $u = (k^2 - 1)a^2 + b^2$ (10)

and write 1 as
$$1 = \frac{\left(1+i\sqrt{k^2-1}\right)\left(1-i\sqrt{k^2-1}\right)}{k^2} \tag{11}$$

substituting (11),(10) in (9),and employing method of factorization,define

$$p+i\sqrt{k^2-1}q = \frac{\left(b+i\sqrt{k^2-1}a\right)^2\left(1-i\sqrt{k^2-1}\right)}{k} \tag{12}$$

Equating real and imaginary parts in(12),we get

$$\left. \begin{aligned} p &= \frac{1}{k} \left[b^2 - (k^2 - 1)a^2 - 2ab(k^2 - 1) \right] \\ q &= \frac{1}{k} \left[b^2 - (k^2 - 1)a^2 + 2ab \right] \end{aligned} \right\} \dots \tag{13}$$

Choosing a by kA , b by kB in (13),(10),(6) and employing (2), the corresponding non-zero integral solutions of (1) are obtained as

$$\begin{aligned} x(k,r,s) &= a + 2k^2 \left[(k^2 - 1)A^2 - 2AB + (B^2 + AB) \right] \\ y(k,r,s) &= a - 2k^2 \left[(k^2 - 1)A^2 - 2AB + (B^2 + AB) \right] \\ z(k,r,s) &= -a + 2k^2 \left[(k^2 - 1)A^2 - 2AB - (B^2 + AB) \right] \\ w(k,r,s) &= -a - 2k^2 \left[(k^2 - 1)A^2 - 2AB - (B^2 + AB) \right] \\ U(k,r,s) &= a + k \left[2B^2 - 2(k^2 - 1)A^2 - 2AB(k^2 - 2) - 2k^2 AB \right] \\ V(k,r,s) &= a - k \left[2B^2 - 2(k^2 - 1)A^2 - 2AB(k^2 - 2) - 2k^2 AB \right] \\ P(r,s) &= -a - k \left[2B^2 - 2(k^2 - 1)A^2 - 2AB(k^2 - 2) + 2k^2 AB \right] \\ Q(r,s) &= -a + k \left[2B^2 - 2(k^2 - 1)A^2 - 2AB(k^2 - 2) + 2k^2 AB \right] \end{aligned}$$

Properties

1. $x(A,2A,A) - y(A,2A,A) - 4Cf_{3,A,6}^2 + 48F_{4,A,6} - 48Cf_{3,A,3} - 16t_{4,A} \equiv 0 \pmod{24}$
2. $Q(A,A,2) - P(A,A,2) - 4Cf_{3,A,6} - 32t_{3,A} \equiv 0 \pmod{4}$
3. $w(A,A,A) - z(A,A,A) + 4Cf_{3,A,6}^2$ is a nasty number
4. $18 \left[V(A^2,A,A) - U(A^2,A,A) + 144F_{4,A,4} - 48Cf_{3,A,6} - 24Pr_\alpha - 48t_{4,A} \right]$ is a cubic integer

PATTERN

Rewrite (7) as
$$u^2 - p^2 = (k^2 - 1)q^2 \tag{14}$$

(14) can be written in the form of ratio as

$$\frac{u+p}{q} = \frac{(k^2-1)q}{u-p} = \frac{A}{B}, \quad B > 0 \tag{15}$$

which is equivalent to the system of double equations

$$\left. \begin{aligned} Bu + Bp - Aq &= 0 \\ -Au + Ap + (k^2 - 1)Bq &= 0 \end{aligned} \right\} \dots\dots\dots (16)$$

Applying the method of cross multiplication, we get

$$\left. \begin{aligned} q &= 2AB \\ p &= A^2 - (k^2 - 1)B^2 \\ u &= A^2 + (k^2 - 1)B^2 \end{aligned} \right\} \dots\dots\dots (17)$$

In view of (17),(6) and (2), the corresponding non-zero integral solutions of (1) are given by

$$\begin{aligned} x(k, A, B) &= a + 2A^2 + 2(k^2 - 1)B^2 \\ y(k, A, B) &= a - 2A^2 - 2(k^2 - 1)B^2 \\ z(k, A, B) &= -a - 4kAB \\ w(k, A, B) &= -a + 4kAB \\ U(k, A, B) &= a + 2A^2 - 2(k^2 - 1)B^2 \\ V(k, A, B) &= a - 2A^2 + 2(k^2 - 1)B^2 \\ P(A, B) &= -a - 4AB \\ Q(A, B) &= -a + 4AB \end{aligned}$$

PATTERN

Introduction of the linear substitution

$$\left. \begin{aligned} x = a + b, y = a - b, U = a + c, V = a - c \\ P = A + B, Q = A - B, z = A + C, w = A - C \end{aligned} \right\} \dots\dots\dots (18)$$

in(2) leads to $a(b^2 - c^2) = A(B^2 - C^2)$ (19)

Taking $a = kA, k > 1$ (20)

in(19) it gives $B^2 + kc^2 = kb^2 + C^2$ (21)

(21) can be written as

$$B^2 + kc^2 = (kb^2 + C^2) * 1 \quad (22)$$

$$1 = \frac{[(k-1) + i2\sqrt{k}][k-1 - i2\sqrt{k}]}{(k+1)^2} \quad (23)$$

Write as 1 as

Substituting (23) in (22), and employing the method of factorization, define

$$B + ic\sqrt{k} = \frac{[C(k-1) - 2kb] + i\sqrt{k}[b(k-1) + 2C]}{k+1}$$

Equating real and imaginary parts, we get

$$\left. \begin{aligned} B &= \frac{1}{k+1} (C(k-1) - 2kb) \\ c &= \frac{1}{k+1} (b(k-1) + 2C) \end{aligned} \right\} \dots\dots\dots (24)$$

Replacing b by $(k+1)b$, C by $(k+1)C$ (25)

Using (25),(24),(20) in (8) and (2), the corresponding non-zero integral solutions of (1) are followed by

$$\begin{aligned}x &= kA + (k+1)b \\y &= kA - (k+1)b \\z &= A + (k+1)C \\w &= A - (k+1)C \\U &= kA + b(k-1) + 2C \\V &= kA - b(k-1) - 2C \\P &= A + C(k-1) - 2kb \\Q &= A - C(k-1) + 2kb\end{aligned}$$

PATTERN

Consider the identity

$$(a+b)^3 + (a-b)^3 - (a+c)^3 - (a-c)^3 = 6a(b^2 - c^2) \quad (26)$$

Let A,B,C be three non-zero distinct integers such that

$$a = B - C, b = \frac{B+C+A}{2}, c = \frac{B+C-A}{2} \quad (27)$$

Using (27) in (26),we have

$$\begin{aligned}\text{L.H.S of (26)} &= 6A(B^2 - C^2) \\&= (A+B)^3 + (A-B)^3 - (A-C)^3 - (A-C)^3\end{aligned} \quad (28)$$

Substituting (27) in L.H.S of (28) and simplifying, the corresponding values of octuple (x, y, z, w, U, V, P, Q) are given by

$$\begin{aligned}x &= \frac{3B - C + A}{2} \\y &= \frac{B - 3C - A}{2} \\z &= (A + B) \\w &= (A - B) \\U &= \frac{3B - C - A}{2} \\V &= \frac{B - 3C + A}{2} \\P &= (A + C) \\Q &= (A - C)\end{aligned}$$

PATTERN

Taking $u = \alpha + \beta, p = \alpha - \beta$ (29)

in (14) gives $4\alpha\beta = (k^2 - 1)q^2, k > 1$ (30)

Assumption $\alpha = (k^2 - 1)\beta$ (31)

in (30) leads to $q = 2\beta$

In view of (31), (29), (60), (4) and (2), the corresponding integral solutions of (1) are represented by

$$x = a + 2k^2\beta$$

$$y = a - 2k^2\beta$$

$$z = -a - 4k\beta$$

$$w = -a + 4k\beta$$

$$U = a + 2k^2\beta - 4\beta$$

$$V = a - 2k^2\beta + 4\beta$$

$$P = -a - 4\beta$$

$$Q = -a + 4\beta$$

CONCLUSION

One may search for other pattern of solutions and their corresponding properties.

REFERENCES

- [1]. L.E. Dickson., 1952, History of Theory of numbers, Vol.2, Chelsea publishing company, Newyork.
- [2]. L.J. Mordel., 1969, Diophantine Equations, Academic press, New York.
- [3]. Bhantia. B.L and Supriya Mohanty., [1985], " Nasty numbers and their characterizations" Mathematical Education, Vol-II, No.1 Pg.34-37
- [4]. M.A Gopalan, S.Vidhyalakshmi and N.Thiruniraiselvi, March 2013 "On the cubic equation with five unknowns $3(x^3 - y^3) = z^3 - w^3 + 12t^2 + 4$ ", IJESM, vol2, issue1, 227-235.
- [5]. M.A Gopalan, S.Vidhyalakshmi and S.Mallika, 2013 "Integral points on the cubic equation with five unknowns $x^3 + y^3 = z^3 + w^3 + 6t^2$ ", Diophantus J.Math., 2(1), 39-46.
- [6]. M.A Gopalan, S.Vidhyalakshmi and T.R.Usharani, 2013, " Integral Solutions of the homogeneous cubic equation $x^3 + y^3 + u^3 + v^3 = kt^3$ ", Bessel J.Math., 3(1), 69-75.
- [7]. M.A Gopalan, S.Vidhyalakshmi and S.Mallika, Jan-June, 2013, "Integral points on the cubic equation with five unknowns $x^3 + y^3 = z^3 + w^3 + 6(x + y) + 6t^2$ ", American Journal of Mathematics and Mathematical Sciences, Vol2, No1, 31-35.
- [8]. M.A Gopalan, S.Vidhyalakshmi and T.R.Usharani, Nov 2012, "On the cubic equation with five unknowns $x^3 + y^3 = z^3 + w^3 + t^2(x + y)$ ", Indian Journal of Science, Vol1, No1, 17-20.
- [9]. M.A Gopalan, S.Vidhyalakshmi and T.R.Usharani, Dec 2012, "Integral Solutions of the cubic equation with five unknowns $x^3 + y^3 + u^3 + v^3 = 5t^3$ ", IJAMA, 4(2), 147-151.